CALCUL
NUMERIQUE

Nombres relatifs
Fiche 1

ZOr»I0

Exercice 1 *

Effectuer les calculs suivants :

A= -5x 0]
B= (- 0.6)x(-9)

Exercice 2 **

Effectuer les calculs suivants :

1=18+(-2)x6-15

= (27)x(-9) - (-8)x(-5)
K=17x(-1)+10x(-8)-16
L=16-14+12x(-2)+17
M =3,6-3,6x2
N=(-1)x2x2,5-10

Exercice 3 ***

Effectuer les calculs suivants :

A=12- 49+ (-7)+ 3x (- 10)

B=15-(-12+5-4)+(-25)+5
C=48+(-6)-(-6]x(-1)-10

D=6-6%(-6]+6-1
_25-5x(-4)
15+ 2x(-3)

Corrigé

Retour au sommaire
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- 3)- (- 58)
D= -125-125

Exercices de révision
Mathématiques
Entrée en Seconde

Difficulté
*  Facile
**  Moyen
**%%  Difficile

O=-6x0,1+10x(-1)
P=-40+5x1,2-3x5

0= (-2+5)-(4+6)x(-5)
R=(3-0,7)x(15-8)-13x(-2)

§=50x2-100+2+8

Pz (-1)x(-3)+ (~10]x4

E=100-110- (- 100)+ 10
F=-1-9-19+8-3

F=-3x10-(-5+12-2)- (- 15)+ (- 3]
G=63+(-7)-(8-4x7)x0,5
H=56-(8-15)+(- 6)x3-100+ (- 20

[=52-63+9-7x(- 4
25+ (- 4)x

K=100-

15+ 5% (- 2

x (- 1000)
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